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Part A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark your answer sheet.

1-  The two groups of students should be taught differently in that their learning needs are
quite

1) bizarre 2) distinct 3) stable 4) reckless

2-  This mildly picaresque novel a boy's flight from prep school to an eventful
weekend in a big city.
1) recounts 2) accumulates 3) asserts 4) restricts

3-  The two companies worked in and lowered their prices to make their rival
company collapse.
1) ambivalence 2) validity 3) chaos 4) collusion

4-  The U.S. was accused of international efforts to combat global warming.
1) regretting 2) convicting 3) undermining 4) accelerating

5- Richard is so that his diet consists almost exclusively of catfish and chicken
liver-the two most inexpensive foods in the store.
1) frugal 2) timid 3) selective 4) astute

6-  Even after traveling 62 miles, the runner kept on moving.
1) congenial 2) indefatigable 3) flimsy 4) indifferent

7-  As we traveled to college for the first time, the family car was laden with books, clothing,
, and other necessities.

1) warehouses 2) amenities 3) fragments 4) appliances
8-  When Eileen me to a fight, I could see the hatred in her eyes.
1) strengthened 2) derived 3) challenged 4) justified
9-  People like to be around George because he is so and good-natured, so it comes
as no surprise that he has so many good friends.
1) affable 2) sarcastic 3) superficial 4) half-hearted
10- The new tax policy was criticized in that it was argued that the rich were actually the
main of the tax cuts.
_ 1) hedonists savants 3) benefactors 4) beneficiaries

Part B: Cloze Passage
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark your answer sheet.

Quantum teleportation exploits some of the most basic (and peculiar) features of quantum
mechanics, (11) in the first quarter of the 20th century to explain (12) at the
level of individual atoms. (13) the beginning, theorists realized that quantum physics
led to a plethora of new phenomena, (14) defy common sense. Technological
progress in the final quarter of the 20th century has enabled researchers to conduct many
experiments that not only demonstrate fundamental, sometimes bizarre aspects of quantum

mechanics but, (15) in the case of quantum teleportation, apply them to achieve
previously inconceivable feats.
11- 1) invented a branch of physics 2) a branch of physics invented
3) a branch of physics was invented 4) that invented a branch of physics
12- 1) occurrence in processes 2) that processes that occur
3) processes that occur 4) processes of occurrence
13- 1) Since 2) Of 3) From 4) For
14- 1) some of which 2) some of them 3) some of those 4) of them some
15- 1)also 2) as 3) like 4) such a
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PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

16-

17-

18-

19-

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

Reading 1:

Machiavelli saw politics as an affair separate from religion and ethics, an activity to be
practiced and studied for its own sake. Politics was simply the battle of men in search of
power, and since all men were brutal, selfish, and cowardly, politics must follow certain rules.
In his most famous work. The Prince (1532), Machiavelli described the means by which a
leader may gain and maintain power. The ideal prince was the man who had studied his fellow
men, both by reading history and by observing the present, and was willing to exploit their
weaknesses. Machiavelli thought that his own time was too corrupt to permit any alternative to
the Renaissance despots that he saw all around him.

Machiavelli's philosophy arose more from a deeply pessimistic view of human nature than
from a lack of moral sense. which many readers criticized in him. He was, and still is,
misunderstood to have promoted atheism over religion and criminality over other means of
governing. Despite the ruthless connotation of the term "Machiavellian." many of his works,
such as the History of Florence (1532). express republican principles. Machiavelli's supporters
saw him not as a cynic who gloried in evil but as a scientist of politics who saw the world more
clearly than others and reported what he saw with lucidity and honesty.

The cultural impact of Machiavelli's philosophy was far-reaching, and negative
interpretations have persisted. The dramatic literature of the late sixteenth century, notably the
plays of Shakespeare. often featured a villainous but humorous character type known as the
Machiavel. The Machiavel character loved evil for its own sake, and this delight in evil made
all other motivation unnecessary. The Machiavel had a habit of using humorous monologues
to comment on his own wickedness and contempt for goodness. Shakespeare's principal
Machiavel characters are the treacherous lago in Othello, the ruthlessly ambitious Edmund in
King Lear, and the murderous title character in Richard lIl.

What is the subject of the Prince?

1) The trial and imprisonment of Machiavelli

2) The relationship between politics and religion

3) The ways that a ruler gains and maintains power
4) The history of the political leadership of Florence

The word “their” in line 6 refers to --------- :

1) fellow men 2) certain rules

3) Renaissance despots 4) religion and ethics

Machiavelli's political philosophy included all of the following beliefs EXEPT -------- A

1) the ideal ruler understands and exploits the weaknesses of others

2) people must organize to fight against evil and corruption in politics

3) politics is the power struggle among men who are all brutal and selfish

4) politics should be studied and practiced separately from religion and ethics
According to the author, how has Machiavelli been misunderstood?

1) Some of his principles of republican government have been misused.

2) Some people think he was cowardly for retiring from public life.

3) Some of his writings seem to support religion, while others oppose it.

4) Some people interpret his writings as promoting evil in government.
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20- The Machiavel character in drama has all of the following characteristics EXEPT -------- -
1) complex motivation 2) enjoyment of evil
3) dislike for goodness 4) humorous commentary
Reading 2:

The philosophy of existentialism is based on the belief that individual human beings face a
meaningless, absurd. and science-oriented world. Individuals must therefore find or construct
meaning for their existence and answer their own questions about self-identity and truth. The
philosophy of phenomenology is the study of human experience and the interpretation of
experience. Phenomenology is a close cousin to existentialism. Both echo many of the themes
of earlier philosophies, particularly realism and transcendentalism, and in turn had an effect on
other ways of thinking. Existentialism and phenomenology influenced theological and
humanist thinkers, such as Martin Buber and Abraham Maslow. The former focused on the -
Thou and teacher-student relationships, while the latter theorized about the hierarchy of human
needs and the ultimate need for self-actualization.

21- The passage is mainly about --------ev--- .
1) two philosophical theories
2) the philosophy of existentialism
3) human experience through the lense of philosophy
4) how philosophical theories influence human thinking
22- According to the passage, existentialism ------------- s
1) looks for a meaning to life
2) seeks to prioritize human needs
3) seeks answers to questions about self — identity and truth
4) has a lot in common with phenomenology, realism, and transcendentalism
23- The phrase “the latter” in line 9 refers to ---------- :
1) existentialism 2) Martin Buber 3) Abraham Maslow  4) phenomenology
24- Which of the following statements is true according to the passage?
1) Phenomenology holds that human experiences are meaningless.
2) Buber and Maslow put forward theories about teacher — student relationships.
3) Humanist thinkers are against the philosophies of existentialism and phenomenology.
4) Phenomenology and existentialism inform and are informed by other philosophies and ways
of thinking.
25- Why has the author mentioned Buber and Maslow?
1) To introduce the pioneers of existentialism
2) To give examples of famous thinkers
3) To emphasize the influence of earlier philosophies
4) To mention thinkers who influenced philosophy

Reading 3:

The idea of determinism, that no event occurs in nature without natural causes, has been
postulated as a natural law yet is under attack on both scientific and philosophical grounds.
Scientific laws assume that a specific set of conditions will unerringly lead to a predetermined
outcome. However, studies in the field of physics have demonstrated that the location and
speed of minuscule particles such as electrons are the result of random behaviors rather than
predictable results determined by pre-existing conditions. As a result of these studies, the
principle of indeterminacy was formulated in 1925 by Werner Heisenberg.
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According to this principle, only the probable behavior of an electron can be predicted. The

inability to absolutely predict the behavior of electrons casts doubt on the universal
applicability of a natural law of determinism. Philosophically, the principal opposition to
determinism emanates from those who see humans as creatures in possession of free will.
Human decisions may be influenced by previous events, but the ultimate freedom of humanity

may possibly lead to unforeseen choices, those not preordained by preceding events.

The idea of determinism is refuted in the passage based on ------ -

1) scientific proof

2) philosophical doubt abut free will

3) principles or assumptions from different fields of study

4) data from the science and philosophy of determinism

The word “unerringly” in line 3 could be most easily replaced by ---------- 5

1) effortlessly 2) fortunately 3) without mistake 4) with guidance

According to the passage, which of the following is NOT true about the principle of

indeterminacy ?

1) It is philosophically unacceptable.

2) It has been in existence for less than a century.

3) It was formulated based on studies in physics.

4) It is concerned with the random behavior of electrons.
It is implied in the passage that free will is ----------- .

1) a natural law

2) the antithesis of determinism

3) accepted by all philosophers

4) a direct outcome of Werner’s principle of indeterminacy

The word “those” in line 13 refers to ----------- :
1) creatures 2) choices 3) decisions 4) events
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